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I. CHOOSE THE CORRECT OPTION                                 (1x15=15) 

 

1. Social problem means 
a. State of affairs           

2. Which of the following is characteristic of social problem? 
a. It affects on a large section of a society 

3. Which of the following is a characteristic of social problem? 
a. All of the above 

4. Which of the following is not a source of social problem? 
c. Personal development        

5. Density of population is very much related to 
a. Climate      

6. Which is not a type of unemployment? 
c. Agricultural unemployment    

7. Which is not a remedial measure for unemployment? 
d. Political reforms 

8. Which is the effect of over-population? 
d. All of the above 

9. Poverty and __________ are twin problem found in India. 
a. Unemployment         

10. What is the evil effect of unemployment? 
a. All of the above 

11. What are the schemes introduced by the government of India to remove unemployment? 
d. All of the above 

12. What is often the trouble with communalism? 
a. A group believes they have more differences than similarities with other groups 

13. Which one of the following is not a cause of communalism? 
a. State has no official religion  

14. What is one factor that made the Muslim population more favorable of communalism in India? 
a. They lacked education compared to other groups 

15. Which one among the following is the type of poverty which compares the total wealth of the poorest 

one-third of the population with the total wealth of richest 1% of the population? 
c. Relative poverty            
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